L2

COMPUTE time per input event

Entres

y: events

Mean

Underflow

= { overtiow

2246328

1507

24880404

rate of COMPUTE

y: rate (Hz)

=
o
w

10

Entres

Mean

1l

RMS

Underfow

Overflow

2206328

1021

5653

o

8.7230+05

coibyecbevsbeeidaeetveebie

Ll

total events. 0=anyinput pt 1. pt 1. D! Entries 4693043
Mean 1133
i rms 1119
+] underflow 0
10° :
i| overtiow 0

5
10

10

103 ................. P P
0O 2 4 6 8 10 12 14 16 18
Input: 0O=comp, 1=decis, user ..., 10=accept,...user

168525

1013

5665

o

65480404

| BTOW-compute: #towers w/ energy /event Entries 2246328
Mean 31.39
5 Pesesdecaatanaataaan EEE AR L)
a0 vt
5 RMS 29.14
IS}
o
s Underflow 0
B
Overflowl.266e+06
10°F
3
10
2
107 E
10F
Tereeckensd vyl eeeebererbrmidrbeeeebeerdins

0O 10 20 30 40 50 60 70 80 90 100
x: # BTOW towers

10564

1019

570.4

0

4132

BTOW-decision: acc seed Tw ET>7.44 GeV

Entries 8963

0 20 40 60 80 100 120 140 160 180 0 200 400 600 800 100012001400160018002000
x: COMPUTE time (CPU kTics) x: time in this run (seconds)
| L2 DECISION time per input event Enries 168525 rate of DECISION Enes
Mean 1.696 Mean
5 e R S
0 H
é‘ B RMS 2219 % RMS
9 | undertiow 0 § Underfiow
> : -
. >
:|overfiow 1558 102 - - overtiow
10* H
10°
10°
IIIIillIIilIIIiIIIIiIIIIiIIIIiIIIIi IlillliIllilllilllilllilllillliIIIiIII
0 5 10 15 20 25 30 35 0 200 400 600 800 100012001400160018002000
x: DECISION time (CPU kTics) x: time in this run (seconds)
L2 COMP+DECI time per input event Enties 168525 rate of ACCEPT Entries
Mean 19.79 Mean
o) = : :
S T RMS 2362 z | : | rus
3 2 :
.>1§04 - { Underflow 0 © Underflow
=
Overflow 2697 Overflow
10°H
10°
wolbee b
'IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

Tu

0 20 40 60 80 100 120 140 160 180

e Jun 192156 242012

0 200 400

x: time in this run (seconds)

600 800 100012001400160018002000

Mean 1790

. Y: counts

10

0 500100015002000250030003500400045005000
x:tower internal ID



BTOW: decision Cluster Seed Et | Entries 8963
T = Mean 7.877
o | RMS 1.775

10° ==
10° EEmnnnn:: | - :
10 =
1__"""""""""" -] Il Il
0 30
ET GeV

BTOW-decision: accepted clust ... Entries 8963
L e S 7| Mean 8.819
o OOt A LRMS 1.763

x: ET(GeV)
Entries 8963
=] Mean 84.92
| RMS 9.787

70

50 60 80

90 100

100*Seed Et/Cluster Et







8963

Entries

Mean x 23.43

o]
— 201

—
ol
—
—

Meany 44.67

S.__;__ _

#BTOW decision acc seed Tw, Et>7.44 GeV

w_,. _L.n_._ .....................

_.__.__.__.____ _H .._._ o
“.__.H._.L ”___”._. ___._____.
A e

_.._._. ..___ __

_._.c.___.___ _

o
Q\

~1 10]03S m.n_u._. ~ uiq EQ A

__TE _

. __._h _...__..____

_____“

501

LO

____ "o

s

F
_- i _r
____".__.. L

4

eta bin [-1,+1]

Tue Jun 19 21:56:24 2012



[ BTOW-decision: acc seed Tw ET>7.44 GeV ] Entries 8963
R | Mean 573.1
g RMS 221.1

102

U — s H T HEHH S BHEEE SR EH R EEEEEEEEEE HEEERHEH SEEEEFEREE HH EEEEH
1] T n: il B0 1NN 1 O Nk
|| 0 ] It i

: LI LR D]

J.'..,,‘.l| J“‘L'HH .‘.lg.‘,[U”.l,w!;.

1200

x:tower internal ID

10°

y: counts

| RMS

Entries
Mean

8963
1810
322.4

10

!!ﬂ] o T

10

IR

1800

mum L

1
1200

LR

1600 .

1400

o i

x:tower internal ID

2400

BTOW-decision: acc seed Tw ET>7.44 GeV ]

y: counts

Entries

=’ Mean

RMS

8963
3002
369.2

IIH jl (RN \ Iy

2600

LR,

3600

x:tower internal ID

BTOW-decision: acc seed Tw ET>7.44 GeV ]

10°

y: counts

Entries

7| Mean

8963
4209
334

10

T T

10

UL .l|||5 sl Rk bl

L ,.Mu.

] |.L

x:tower internal ID

1 i Fiie =
4800




BTOW-decision: acc seed Tw ET>7.44 GeV

Entries 8963

Mean 203.8
10°
RMS 103.7

y: counts

300 350
x:tower internal ID

| BTOW-decision: acc seed Tw ET>7.44 GeV | Entries 8963
R s e i Mean 58644
8 103 : : : : : :

S RMS 42.47

B i - ZZI IFARIE - T30 R I A - s H
40 450 500 550 0 650

Tue Jun 19 21:56:24 2012 x:tower internal 1D




